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RAILWAY RECRUITMENT BOARDS
Yo aiclt a2

Level-1 Posts CEN-02/2018

1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections

Q.1 g o ygq, arsey, FRET 9 2.5 T 97 o1 399! a0A /g &1 4 92 oY g RfRea &l adAr
o1 feal 87

e K31 o
V2 34 q¥
X2 33 9y
X4 32 qY

Q.2 ey A, fodt T €5 37 14 9¢ 7 4 951 ¢ UST B & 9y Aaee 98 =@l 9 & 12 7 H W
Tl | SURE, UISY B 3bd Qe g &I He § W Ghdl g

ans X178
v 2 84
X3 77
X 4 75
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Q.3 fgffad IR M@ 2017 & TRH YRT § ffys $ufE gr1 e e & SHer! seidfa s 2l
alg 2017 & GRM YR ¥ IAIfed SR B Ho G- 1,80,000 154l Al dl HUl E gRI e e
T T 2

BD A

Ans 1. 15,000
X 2. 35,000
v 3 45,000
X 4 30,000

4 63-(-3)(-2-8-4) = 3of {5+ (-2)(-1)} =7
Ans Xl 60

X2 - 60

X 3 65

v 61

Q5 gfler wRel frd g WRdly raufd ST, Wiusr ok dws dR o o gl
X g SETE

X2 fag faftes

A5 R fod

v 4 YRl TeRugey

Page (2)

(& Teachingninia.in



Q6 Fmfafad Gfe! & I BIaT 94 B Tals & R Tgd HH H AT IO
g4, Surs, 3.
X0 g, e, g
v 2 gyrgd, sdiF, U4
XK= g4, g, guTs
X4 g, guTE, gu

Q7 fag & 9 &7 w FoE fHf afde dr F 9 vaifed e el 4R @ik sud BRI § Rveiar. & &@iF
Tele AT 87

e XK ARt @ Fram
X2 9a &1 am
<3 fafeur fom
v o it 1 Ham

Q8 & 7 TS TAM & MR R A9 T T e § ¥ € I T |
35 1385 07
as X1 g
X210
X315
v 4 25
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Q.9 f2u U FAT @R FeeE! B wF U U8 2R 9U el &1 T B O $UF B abud §U O
STERU] &Rl gl

HYA:
o 9l AT BI &

o W BT e §
e

1. O 9F PR T
2. Wt BT e &

X0 EFT ey SR 1 B
X2 iy Hi Fspy a0 8 ol B
X 3 Haq 5HY 1 R Hdl g
v ¢ Had FTpY 2 TR0 BT § |

061 Har A fEEER 2017 & W H U GUAR $I o0 SrHiG N &7 $O1 N §f Jadl 8?2

Ans of 113
X216
X3 22
X4+ 9

01-1 180 T By W fgER X SR Ul o b 8T Y ofgAFT # ¥ S A1 aigHE Sud # Ffed |1
HU:
e A o A & 9l ° g, e 0 2 &1 gl 95d 9UR | gahdl gl
qafgA
| foer 31 8W & Wl & U 9 g
II. e &1 2 B a5% Bl HGLHHdl g

W) R 1 ST fafed B
X 2 paq | ka7l
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X s %aq || Ffed g
Xaqa4snRfked el

% afd cock F D4PeD4L2 fRaT ST B, @ HENCE &1 $d forar wma?

Ans X 1. |9FBOBD3F6
X 2 |9F505D4F5
v = |9F60O5D4F6
X 4 |9F6065D4F6

Y MR RrTaEF @ HER F T o ¥
e X1 el e

X 2 Na*

X 3. Mg?*

v 4 ARt

Q.1 et 2018 ¥, SfETT SRCTR BT AT fafies & wevE T ¥ w9 8 vl g feue Sy
u1?

Ans XK1 IR AR
X2 4R AlgHg el
X = GRY HHR
v Udhd oF
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% YR WA B Ugel g I8 T @S I Y12
ans 11787

v 2 1857

X s 1587

X 4 1875

Q.1 4 yffed woigR TP A & S R 7 8 T &1 uHy od € 9 8 miife AeieRl §RT 38 & F §
6 12 R &1 w0 @ 31 3 URGE SR 15 omifaE FE NI ae S @ | fa

L
<23
X35
Xa2

% frafifea o & fog 993 Sugw a7 oRa T

IR A PR

Ans

r R

*’2-@0
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x5 O O

A B c i)
1]
Ans x-l_ C
X2D
X3B
v A
Q.1 wfwre =t 106 oifa afeen = 9 g, Bl W HRA ANEH & YHER & Y H A T

9 ol 3! § 23 WG 2018 @ & R ) I 2016 7 UG a9 ek w9 W F draed @1 fEm
P P U THRAN 77 BT IS el Bl AP HER I ol

X SR G AT

X SR aAG J
Vi PR GY TEq
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Q2 Geafr ¥ ¥ SR $T AR GH T T g F 12,5 YHS & a5 i W a9T AR g 98 O 919
0 &3 foras Ty 59 Bept Tl Il

Ans 1. 65 mfs
210 m/s
3.125 m/s
4.12.5 m/s

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

% waffe Suge fdeT & 9a9 Fifow

0°C = F.
Ans X1.180

X2 273

v 32

X423

Q.2 digry iR @ 156 A wddl @l ffgd s F o wRd A vy aldle W e 7 9elie deidd @
2 e

Ans o1 4 6-10, 2017

v 2 15 8-12, 2017
X 3 9 812, 2017

X 4 {5 6-10, 2017
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Q2 gz 7d F W 4 km TG 21 T 78 A 3R TS 9T € 3R 3 km 9@ g1 R § 98 SR 3R
3 gg o @ ok Tu o WAl 31 o ge [ famy & ok o @ 82

Ans Xl a:f\&!.u.!.
X2 ygd
K3 3R
v 4 afgm

042 fgart (-1, 0) 3R (2, 6) ¥ TS BU TWIES H HaNeG FU Y 2 ; 1 & 490 H fig W i
IR

ans 51 (0, 4)
X2 (0, 5)
vi(l,4)
X4 (1, 3)

Q2 10 mys B IR UH 2,000 kg 1 TH e TM5e TR TS U HR § ehdl ¢lehid & alg, gl

5 uh s s IR Y IAA I BR F EAH B
Ans - X 1. 750 kg

v 2. 500 kg

< 3. 1000 kg

X 4. 250 kg

Q2 .45 pm. 99, U § ¢ B TS vd fiFe & T F 9 P71 S § T B S0 wr gm
6 e g

Ans

(& Teachingninia.in
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X1 62°
<2 835°
X 3 84°
v i 67.5°

Q2 gy 99 @t Wd 5@ # A 20km/hr 81 9 T 4RT BT fGuRa famn 7 20 km BT gl 4 @ H @
L B e i i i

Ans X120 km/hr
X 2. 25 km/hr
v 2 15 km/hr
X 4 30 km/hr

V2 -G+@-3+ 3422

Ans X'I- E
2

12

K2 =

&

vl

&

x4 2

Qéz g+, < & WK § 3R x°, = &9 SR 8, A ((175+ 160) X 50) X 10 HI HA F[ RI?

Ans X 1.0.3
v'2 0.03

(& Teachingninia.in
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X303
x40

L e
X2 D
X3 A
X 4+B

Q.3 ©w ¢ B URY P g 32 e 3R URT Q §RI36 e T WY O Uhdl @1 99 98 WX O §, o
1 g8 20 fiFfe © & UIgy R gNI @Iell 4o §ebell 21 e @t §9 Uy U 9 @i o) ¢, d i@
BT YT HET T YT o

Ans “1'55iﬁﬁt
x 2 552 e
X3 55~ THIC
X 4. 552 e

%’ B T 2T 2018 TN & TP 7Y HU F AoWH B W 82
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Ans

1. gES

|
:

4 ZTE

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Q.3
3

Ans

AT YES o A (AEAETE) ¥ 1997 ¥ ¥9 ¥ aferd Rew e @ PeRa B
Tgufa & Tt e & w9 # faged B g

X 1. EI. Ul ofsgd |
v 2 g IEATY TS

X = . Yug gEsit
X 4 sfmfa ufayr ardta

Q.3
4

Ans

03 f$gd T g2

1000

X 13%x10°
v'23x10™*
X3 3x10°°
X4 3x10°°

Q.3
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S 91 fddbey FafiiRgd § ¥ apfd & Mecan IAMT q@idr g2

A 7

A B C D

Pz 7NN

Ans X1
v2D
X3 B
X4 A

V ofy F1 fgdg e & di9 g8 U Sl g
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Ans V’ 1 w_w
X 2 QAT
X 3 FIHg
X4 fRfaan

% fofifed & ¥ o9 g ¥ Jafia e 2
A AIg

Q.3 gue T g BE 9 I goRm SHG SIftE Aaag el 2018 H H oig-lobue dg
9 &1 gggea b

A of 1 SfgHCTEIG
X 2 3ble
X5 el
?(4.?{{?{
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Q.4 50 kg =T FT TFH FIF, 45 TON Fr AW 9 s F 7T I ¥ 7fE 5=¥F 90T T F=E 15 om T, &
0 ITHT AT FT I FICI (g = 10ms~ F )

Ans X' 1. 475 W
X2 3258 W
X3 275 W
v+ 375 W

VA H Y P U Fe 22
g

X > TIRGIRITS

X gee

X+ it

% 39 Ue &l uggH I W FEfifed e ¥ ddfid 6 3
Ans \,’1' §1ré

X2 omfq

X5 fta

}{'4.%

(& Teachingninia.in
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S Trw # ¥ F @ g gea G S 32
e v

v R

X o SRfer

X 4 ST

044 With reference to international money transactions, what is the full form of IMF?

Ans X 1. Indian Monetary Form
/< 2. International Money Form
/< 3. International Monitoring Fund

« 4 International Monetary Fund

U Pofifed ¥ ¥ 5T YRT & UEH By FIeaNRd & Gofed fear 82
Ans X1Ii§

v 2 W g

X 3 R

X 4 geearg

064 TfE 50 W T Fo5 1000 J ¥ FT 7 3T997 ST ¢, aF Sod G900 o 7137 567 &
Ans X 1.100 s
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X21s
X310 s
v+20s

%t & iy Aol & swTen ug T @
9D, 8E, 7F, 6G, 5H, ?
A XK1 8J
X2 12C
X3 10V
v 4 4]

S T AreR Uiy Afvae ST 2, U aid-ardt 9 §)
e XK e dde

v 2 e

AR DECEd

X 4 SRE

%' i GreT $ Ue o] § Wa & fbad o Iukd Bid 82
Ans x19

X28

X3 7
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v 10

QS Gy AR AT s WiHo T JBl S o raa FI FRM S fm . & e d @
0 e v @1 o e 2

. e e
2. 3faiq et
3. UG @St
4 4t Fadewn

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Q5 paiR o uF = o e 6 bt 7 99 S 99421 Q e 5o e $7 10 A § TH B
o g1 P e 54l o & fHar R 8 &2 9l a2

e X 1fem
X2 12f¢A
v s 15(¢H
X4 14feA

Cagp=2 R: wANE Q=2 T PxQ & g I B

31
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K R S

p

Qé5 rATaTEa Yo & 9 3T ot o & 99 &7 3o &4 & Ow FiF -/ Fua i 5487

EEGH

et @ e R AE A

HYA:

1) 63 #r Br=ar &Aw: 3cm 4 ,em 7 .cm 5 cm, 6cm 3T d4em I
2) et &1 TT A R

s XL T & wue 1 3k T Fua 2 waa E

v 2 FEer FUF 1 TITT B
X 3 2T U 1 3T 2 93T g
X 4 Faer wUT 2 TATT gl

Q.5
4

Rrarell &1 94 g9 9 fby fdhad # gen U

ans 1. GATOTG

X > TRl
X 3 e

v o R

Q.5
5

Ans

x§ +x§=23ﬂ'ﬁ§qmmx F AT & AT &g &
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X117

X23
Vs -7
X4 -3

Wx,yodagy, zalwli g 1w, za @i @ y,wa____ g
as g qF

X2 R

X 3 grellAg

X 4 grelaglg/A<ly

% yRd Y@ Y 3ifiban YoRd HHMET B
Ans1. W

2 v I F it

s. fg fefebe anfaar wR o

“ Hige div fefdbe

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

% Fofied § 3 S o e Bt %t o e 22
e XK. SefleR RRI-AT
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X 2 g diog=
X 3 J vig
v+ WER T8

% O & fban 3] BIR Fetbe & U U] § IR g 22
Ans 513

<24

V5

<46

Q¢ The hierarchy of animal classification is:

Ans o 1. Phylum, Class, Order, Family. Genus. Species
/< 2. Phylum, Order, Family, Class. Genus. Species
/< 3. Phylum, Class, Family. Order. Species, Genus
/< 4 Phylum. Class. Family. Order, Genus. Species

°1-6 If BIRBAL is coded as RIBLAB, how is DIESEL written in that code?

Ans o 1. EIDLES
< 2 DIESLT
X 3. EIDCGT
< 4 ESETN

(& Teachingninia.in
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Q.6 &7 o T B Ug U IR0 IUF 6 & ARt | 3R | GRT 5 W g1 et @
2 4R gy &€ & Tl eEuRel W RER S 8 oK U8 qu & & b S F @ 4
HIYRUNY SfdFied &1
TY: IH W Y Fedl & F I R YgEH & Y wase uHs il
SAYRTY :
I 7 9% Uge & o HE gRT am SR 99 a9 aaiel gl
.39 R 99 URaed & 3R W gl

XK. Paq gyRT || dafifed B
X 2 JEYRUME | 3R 1| gFr € sfafiled B
V2 Had AGYURUT | AT Bl
X 4 57 Y @URON | 3R 7 & 3@yRN I fafiiRd  ®

Watc TPF Mz Z @ GERY g2, @ V F F I &0 day 32

BP0 81 ) G EA S
v 2. Hrellg
X 5 qEG
X4 T

% WiwT fay Fu 2018 H Tieed dfd ofals B9 oidr 22
e K0 el aRar
v 2 P HifsH
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X3 o o
X+ Ugl TR

% UM YA IR ai B R IIRIC IR

Ans x aﬂq
X2 T
X o o
v ¢ T

Q6 gt # ¥ BT W a7 o FEfd of @ dd we @ T o Uk 32
A) T

B) SATHIUT
C) Riear

X1.
Oﬂi
© @

OO
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Y ffifad & 3 o9 O dEn 9ge gen T 22
Ans X1.323
v 2 409
X 3 943
X4 713

Q6 ol M Fut @l ug AN Pl of & @ A Fsed dfbe ©U Y S F1 SR 9 §)
TYT: I T AT FT H 100 A HH HW S
W:
1. 3 uH I B
1.3 Uh 231 Al gl

1 Baq By | TR Bl g
X2 d 56y | 3R 9 8 Fshy (" TR0 Hal gl
X 3 PHaq FHY 11 SR A g
X Frspy | qur 1 GEE HFERT HRd ¢

W ooy BT F ey 57 30T 90 2

Ans
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1. 15
2. 16
3.17
418

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

T o 2018d% fawh & oA #4982
Y S .

X 2 G TR

v o aRfde dHoRlar

X4 o 9t

Q.7 fius A foET 909 2 kg 3R OUs B 9@ €20 3 kg 2, U6 R &1 3R I 4 m/s 3T 2
T s3I E Y @ gR Y oot & 990 VIR Hag e

e X GFT faust @t Tify @1 fexn & dead
v 2 fqudlq femm o
X3 A BRI H A B AR
X4 B @ =1 H A Bl AR

°é7aaumﬁﬂﬁaaﬁﬁﬁwwaﬂqiﬁam%, RIS @t e °ufed gkt gl
e K affia
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v frafi
X+ fR

Y fefafad 9o 3wy g (2) & $H @ efa ufoeifid Hui
PERCICAGUIE

S| G| @] ?

I ATHIora:

© |[o]| & | &
A B C D
as 1A

X 2D

X3 B

XaC

047 The power plant at Manikaran, based on geothermal energy, is in
Ans X 1. Assam

/< 2. Punjab

/< 3. Uttar Pradesh

' % Himachal Pradesh
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057qﬁﬂﬁaa—wﬁ14x+ay+5=oaﬁq21x-ky-7=oaﬂﬁ§wwﬂ’€f%ﬁfk %1 A g

ans XK1~ 16
X212
v - 12
X4 8

% wfean @y d20 & 2018 GBIV BT HOEH B B2
XK oReferm

v 2 9% TS

X 2ris

X« gug

U BH & R HU fF P gRI A B B, S i 9 B A
" VR, T R &g

X2 el 9, Tfde 3R vy

X3 g, Bldbal R ey

X 4 QER, QA SR o
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% 16, 48 3R 104 &1 AU, &
Ans X 14

X216

VAR

X412

Q.7 750 w Tt & faeRia SR A=W 1 IUEN 4 9 URifed % fo e s 81 o faT # w9 gm

9 Imin T o anl \

X1 3,000 gfeH
X 2 30 gfeq
X 3 300 gf-icy
v . 3 ey

Y alg tand =% T G sinf+ cosd &I A e BT

3

Ans

F R
52
53

v

U~ | on = U W
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W I T e 7F, uy fF F 9y Fecaq gamar JE@ar 82
Yy =

Ans ,1.

X
OO0 >0

Qés For which sector did the union government launch the "SAMPADA Scheme"?

Ans  of 1. Food processing
/< 2. Women empowerment

/< 3 Health
< 4 Girl child

Q.8

(& Teachingninia.in
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U Y Fvl R AgR BY 3R Aofg o & & i smuroms A § @9 d@ sy | sfafiRd 2
T

Y A z ¥ &, Uid e’ g-Zer | IE H1 ek ol gl

S{AERUT

| T®RIR W fibd H Al BT 19 e 2

Il TE & U s @ 2l

M 1 Had | aldfiRd B
X2 9a | 3R A8 AdfiRd 3l
X3 1 3R || g E1 SfdiHied B
X 4 ohad | 3fdFigd Bl

W T vl & 3wTeT 3eR T gEm?
Z KXW R RBIP 7
s o 1N
X2 E
X3 C
X4l

Y Fefifed & I S9ar g e guafrt 22
Ans X famew

v o

X 3 eyl

<4 o

(& Teachingninia.in
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82U U A & ER, 59 9 ¥ ©R B o {E 13 9% ¥ 6T 22

Sales of stores

mStore A mStoreB mStore
14 14

die: [t & ofibs @Al (2) H Bl
Ans V‘Iaﬂ: 1

X2g§ 1 3Ry 2

X3gy 3

Xaqg 2

Q.8 \ABC # D3R E ¥@eil ABIR ACER 9@l THMIGR W@iel BCIR DEW R @ fig 81 afe
AD=1cm, DB=3cm & G ar(aADE) : ar(AABC) &

Ans 1. %013
2.1: 16
31: 9
41: 4

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Y g & Uy e ¥ uRadd & X B $el oidl &
ans 1. @RUT
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X 2 9|

VR

X 4 gd
T 2ug, $eY 9 W R el 2
Ans X1 TR]

X2 e

v 3 g

X 4 e

09 & 97 U5 g &I g X W 96 9 ¥ W Fa@) PQ aF gul @l fig P ok fig @ W wd
FRA Il WHRY §HF e 1 A g6l @l Bie ROR ¢ gL d PQ2 BT AN I1d B

Ans X 1. 2nRr
x 2 gn Rr

v 3 4Rr
X 4 2Rr

Y dfsggug ¥ Gudid ot B

Ans x gaﬂ_
X 2 5l

X3 SfEplgd
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v o BRI

Qé9 TF BT 4 TF 9% &I z 1,975 § TG a7 12% & OH R U 59 o ovg o fomg g0 an o
2

Ans 1. 2,212
X 222192
X3.% 2222
X 4 % 2202

Qé9 3 5,3 3T 7 7 5T e heelt T gt M W HEAIT A o Tl @ (I F e &
g )7

Ans X1 g
X2 7
<310
vig

Q9 A 2017 # FET W [DR T HA A akefigs oHferar &1 98 @ 32
Ans Xl ﬂ ﬂ }_{ﬂ_ﬁr

v 2 3FUH TR

X s

X 4 &Y HHR

Page (33)

(& Teachingninia.in



Q9 % 3 Wz 1600 for@ unl fEoel @igR oY & RM, 39 W 10% Be o 9t g1 ¥E &1 f&wp!
S o @ g

Ans %1% 1,400
X 221,240
X3 % 1,540
v 4 T 1,440

Q.9 o=y TF W ¥R o Fuw BT AT ¥ waT 7 3T & ¥ U i W ¥ Fum dErw/aT 22
6 g
3 10 I € TgA H FA G AT F
FU:
1. =T T FAAT A 10 W 7
2.5 T Fga H g, A= F G F A= A

e X1 Faer FUaT 2 g B
X 2 Fae FUF 1 TIT gl
V3 wua 1 AR 2 vREry 9o £
X4 FyuT 1 AR 2 vrmy AT &7 F

Q9 ww ¥t 7 Hid T8 @ T B GO B UG A §1 99 @ 6l B e 68 At @ A el @t
7 den 36 | Ad el @ Gen 63 8 W, A A arw el #) W fbad e =Ry 2

Ans 1. 98
<2102
<3110
v+ 119
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Q9 S g fHgaR W1 W g fean Sl § dl B e urexl e & A gme

A B " D

q || 4]d

X
OO0 m>»

% faftmw, Sfsaw sk dReREy T gaHa 32
" 1 TP SIRIeH HI B T saEe il 2
X2 Y Hlegs gl sl
X3 Y &RIg 7a dd g
X+ g by dd gl

Q.1 ofz Wfe ¥ = 5,000 H1 F3% 3 U@ F U A R <R TS & URW A & E 4%, TR 96 &
00 R 39 3R oy o ¥ g 2% & O 39 91 F BT e

Ans X 1. 2 5,460
v 2 % 5463.12
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< 3 % 5,460.12
X 4 % 5403.12
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